AO03 BEVEL GEAR I50

’° o‘ ame
1] 1]
I I Ej
I I
I I = ;
I I
il | I PR Y —_ ‘£ — ) ?
} | ) i i
| |
/1 M 1
| | )
e —
D | D
AN I (1 |
M,
(@)
S a
S
M10 TAP ~ 4 HOLES
ON A 4.00[102.0mm] B.C.D. G\
]
O I - O_ - (LL_—_—_____!\
i \ M8x1.25
NOTES: o AO3S AO3R
STEM NUT | STEEL | BRONZE
1. TORQUE: 300 Nm L
2. MECHANICAL ADVANTAGE:1.95 ] THRUST - 40 KN
3. RATIO: 2.3:1 ‘AN MAX 14 -
4, DIMENSIONS: IN [MM] ‘B’ MAX 48.8 -
5. QUTPUT FLANGE: ISO F10 2 'C NAX 45 20
THIS DRWAING/DESIGN IS DO DRAWING
COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT o.
MASTERGEAR. AND MUST |  scALE | A03 IS0
/ \ R 1 T =T 0= /o T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SEOEI\E'SFEE\IWTTEN APPROVEDBY|  REV.0
5466 EAST ROCKTON RD. - SOUTH BELOIT, IL 61080 - © 16—04—03




A04 BEVEL GEAR 150

1°3/4 GAS ’o
A

(=)
q i <=+ 1.57440.0]
I [ -
W I [ H ';
I [
= A1 ‘ i !
S | | — | 11— 6
2 oz ] | | ' )
~ EE | | H L,
F L | | ||
— (@]
l 5 |[@TD I D I D S
x>
— = \ \ : | | : / / IP
=~ L,7 6C 4'>‘
, L2.76[70]
= = 7.09 [180.0] .
o
394 [100.0] — =
M10 TAP~ 4 HOLES .'
ON A 4.00[102mm] B.C.D. »
1.38 [35.0]
(x)
2 - 0.10 [2.5]
~ B AT e, V125
O . —
H L—>— 0.83 [21.0]
NOTES: | A4S AO4R
1. TORQUE: 300 Nm .' STEM NUT | STEEL | BRONZE
2. MECHANICAL ADVANTAGE: 3.85 THRUST - 40 Kn
3. RATIO: 4.5:1 A’ MAX 14 -
4. DIMENSIONS: IN [MM] ‘B’ MAX 488 -
5. OUTPUT FLANGE: SO F10 PRIV RS 20
COSTRUZIONI MECCANICHE LEGNANESI | ™S DRWANG/DESGNIS | Do | DREENG
THE PROPERTY OF NOT '
MASTERGEAR. AND MUST | SCALE | A04 IS0
/ \ P 2 Y = Tl l= /o T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN [APPROVEDBY [ REV.O
5466 EAST ROCKTON RD. - SOUTH BELOIT, IL 61080 CONSENT. - © D 16-04—03




BEVEL GEAR 150

T T I
L -
I | [ =
A
~ /]\ — | —=—=3
- Fx]: A .Wl —
. A= g
== ﬁ || | H
8 | | [ [
= . L] .
'; = | I | T =
| |_|r| 1 | r |'i_| |
v [ I ! [
M16 TAP ~ 4 HOLES ,
ON A 5.50 (140MM) B.C.D. @
— B
MBx1.25
i
NOTES: A11S A11R
1. TORQUE: 500 Nm STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 1.29 THRUST - | 100 KN
3. RATIO: 1.52:1 ‘A MAX 14 -
4. DIMENSIONS: IN [MM] ‘B’ MAX 53.8 -
5. OUTPUT FLANGE: ISO F14 g 'C’ MAX 50 45
DRAWING
THIS DRWAING/DESIGN IS DO
((1L COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT No.
MASTERGEAR ANDMUST | scae |ALl ISO
\ kA LT Rl = AR NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN [APPROVEDBY|  grevo
5466 EAST ROCKTON RD. - SOUTH BELOI, IL 61080 CONSENT.  © |_D 16-04—03




Al13 BEVEL

GEAR 150

M16 TAP~ 4 HOLES
ON A 5.50[140mm] B.C.D.

M8x1.25
—
NOTES: A13S A13R
1. TORQUE: 600 Nrm @ STEM NUT | STEEL | BRONZE
2. MECHANICAL ADVANTAGE: 3.85 THRUST - 135KN
3. RATIO: 4.5:1 ‘A MAX 18 -
4. DIMENSIONS: IN [MM] 'B" MAX 69.4 -
5. OUTPUT FLANGE: ISO F14 8 'C’ MAX 65 60.5
DRAWING
THIS DRWAING/DESIGN IS DO
((1L COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT No.
MASTERGEAR. AND MUST | scae  |A13 ISO
\ kLT EREEE AR NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN [APPROVEDBY|  grevo
5466 EAST ROCKTON RD. - SOUTH BELOI, IL 61080 CONSENT.  © LD 16-04—03




A24

BEVEL GEAR 150

3" GAS
1.97 [50.0]—
j1ms]

)
n
T T &
I I ©
T (@)]
R ‘ j S
= . y
™~ ! ——
[Te] R 7] 4
= T C . | P
— | | <
= = E | ! | j >
© O L i i | | 2,
—'o | | N
l S5 @ I | I D >
52 |\ | | / e
§ . | | .
s NI
o 5.12 [130.0]
S - 10.51 [267.0] -
e 567 [144.0]—
M20 TAP~ 4 HOLES O
ON A 6.50[165.0] B.C.D.
|
@ 1.77 [45.0]
| - =—0.10 [2.5]
. _ _ O 41:::‘\/M8X1.25
|
Q i 083 [21.0]
I L)
|
NOTES: (') A243 A24R
1. TORQUE: ,],]OO Nm —'>| |<'— A | STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 3.83 THRUST - 240 KN
3. RATIO: 4.5:1 A MAX 22 -
4. DIMENSIONS: IN [MM] ‘B’ MAX 90.4 -
5. OUTPUT FLANGE: ISO F16 ' 9 'C’ MAX 85 70
DRAWING
THIS DRWAING/DESIGN IS DO
((1L COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT No.
MASTERGEAR. ANDMUST | scaLf  |A24 ISO
il il Y. N;| NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN { APPROVED BY REV.0
5466 EAST ROCKTON RD. - SOUTH BELOIT, IL 61080 CONSENT. © |_D 16—04-03




A25 BEVEL GEAR 150

3" GAS
1.97 [50.0]——
j1ms]

— Q'
fg]
T T N
I I .
1 j 3
=) . y
~ 1
)  — —
= 7 i — ? i
© Tz | | =
5 Bh . It 5
—'o | | )
[do) |_ T T ﬂ'
E ;
§ . | | . i
s N
o 5.12 [130.0]
S - 10.51 [267.0] -
e 567 [144.0]—=
M20 TAP~ 4 HOLES O
ON A 6.50[165.0] B.C.D.
|
@ 1.77 [45.0]
| - ~—0.10 [2.5]
L _ O ' e MBx1.25
|
Q i 083 [21.0]
I L)
|
NOTES: ('} A25S A25R
1. TORQUE: 850 Nm —'>| |<'— A | STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 4.93 THRUST - 250 KN
3. RATIO: 5.8:1 A MAX 22 -
4. DIMENSIONS: IN [MM] ‘B’ MAX 90.4 -
5. OUTPUT FLANGE: ISO F16 ! ¢ 'C’ MAX 85 70
DRAWING
THIS DRWAING/DESIGN IS DO
((1L COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT No.
MASTERGEAR. AND MUST | scale  |A25 ISO
il il Y. N;| NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN { APPROVED BY REV.0
5466 EAST ROCKTON RD. - SOUTH BELOIT, IL 61080 CONSENT. © |_D 16—-04-03




A33 BEVEL GEAR IS0

4" 1/2 GAS
r T 2.76 [70.0]—=
1]

i

|
L<.—1 50 [38.0]
]

i e | Y | I
'5-' ‘
© L -
= [ ] S
- 9oz | | !
S Sa | | S
N 20 | | | T
|_|D T T
[ ! I }f N
5 | | | ) o
% 2 u:g\_mi.n i s | n./:n_/?:u <
. RPN
o 7.87 [200.0]
< = 13.39 [340.0] -
|<-77.32 [186.0] —
M16 TAP~ 8 HOLES
ON A 10.00[254mm] B.C.D.
fs)
<~
0 2.56 [65.0]
= ——0.10 [2.5]
S
I
], —M10x1.5
OHp e
H \
j J =—0.945 (24)
O
NOTES: A33S A33R
1. TORQUE: 2300 Nm _>| |<'—,A, STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 3.83 T THRUST - 330 kN
3. RATIO: 4.5:1 o A MAX ) -
4. DIMENSIONS: IN [MM] - — B MAX | 125.4 _
5. OUTPUT FLANGE :1SO F25 y 2o wx | 118 s
DRAWING
«1I, COSTRUZIONI MECCANICHE LEGNANESI TH'?S&’QA’;E{QQEYS}]GFN IS NDgT No.
MASTERGEAR. AND MUST | scaie |A33 IS0
/ \ A s =l = ) | NoTee Us wiTHouT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SESESFE'%&"(R”C;EN APPROVED BY 1635\2903
5466 EAST ROCKTON RD. SOUTH BELOIT, IL 61080




A43 BEVEL GEAR IS0

4”1/2 GAS
[e @]
| 1276 [70.0] -,
i Il I 8
I I =
—_un_ | _____ T 6
(=) ‘ 4&
S | — 1 — Je——=
© Sk | | 2
™~ — 1 | 1 c
— e | ' | -
L Q% \ 117 I [T1] I [T 11 J ﬁ
<2 Vv 7 ] 9
1o TS
0,
= 9.06 [230.0]
o
= - 14.96 [380.0] -
e 8.03 [204.0] —
M20 TAP~ 8 HOLES
ON 11.75[298mm] B.C.D.
O
2.56 [65.0]
@r N ——0.10 [2.5]
M10x1.5
S S| — €= =
D HJ =— 0.945 (24)
NOTES: Q A43S A43R
1. TORQUE: 3800 Nm ‘. _|>| |<_,A, STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 3.83 — THRUST - 430 KN
3. RATIO: 4.5:1 o A MAX 36 _
4. DIMENSIONS: IN [MM] - B MAX | 1404 -
5. OUTPUT FLANGE: ISO F30 ! 5 C M | 132 102
DRAWING
( : THIS DRWAING/DESIGN IS DO
(1L COSTRUZIONI MECCANICHE LEGNANESI > o PROPERTY O ot No.
MASTERGEAR. AND MUST | SCALE | A43 ISO
/ \ R G =G = o T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN [APPROVEDBY [ Rev.0
5466 EAST ROCKTON RD.  SOUTH BELOIT, IL 61080 CONSENT. - © | D |16-04-03




A0 BEVEL GEAR I50

5" GAS
413 [105.0] 4=—— =

- 1.97 [50.0]

NUT DEPTH

E
L

0.197[5] ——j=——9.37 [238.0] — =
5.71 [145.0] _
| 1 1 | ] ___| IF===
]
||
| |
]
.
]
oy “ Uy
|
591 [150.0]

10.24 [260.0]
- 17.05 [433.0] -

|<'79.49 [241.0] ——
M30 TAP~ 8 HOLES

ON A 14.00[356mm] B.C.D. o)
Iy
O @ Q
e ~3.94 [100.0

j —=f=—0.10 [2.5]

] _—M12x1.75
L e

j J = 1.063(27)

&
&

=
\ N
|<—’A’ STEM NUT | STEEL | BRONZE

NOTES: )/ A70S A70R
1. TORQUE: 6000 Nm ]
2. MECHANICAL ADVANTAGE: 3.83 I THRUST - 700 KN
3. RATIO: 4.5:1 m o) A’ MAX 36 -
4. DIMENSIONS: IN [MM] ‘B’ MAX 153.4 -
5. OUTPUT FLANGE: ISO F35 2 C WA | 145 15
THIS DRWAING/DESIGN IS DO DRAWING
(], COSTRUZIONI MECCANICHE LEGNANESI R DS D01 .
MASTERGEAR. AND MUST | scaLe | A70 ISO
\ Rl 1% T = 3= o T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN [APPROVEDBY |  Rev.0
5466 EAST ROCKTON RD.  SOUTH BELOI, IL 61080 CONSENT.  © LD 16-04-03




A90 BEVEL GEAR [50

10.24 [260.0]
20.67 [525.0]

r76" GASAT =
(@}
II II —6.11(155) - f
T a4 l____Jl_ B \O—J
)
g y === }e = 5 i
- Oz /ﬁ | | | [
S 2 | | H g
o= I | | | r o
© = [\ — — ]I ©
1o !
O,
I~
o
S

—

M30 TAP~ 8 HOLES
ON A 14.00[356mm] B.C.D.

L s ( 287)—

—— 5.9 ( 150)
3 0.10(2.5) ——=—
M12x1.75
S | -G — —€3
1.063(27) .
NOTES: O AS0S | A90R
1. TORQUE: 9000 Nn — |<=—’A' STEM NUT | STEEL | BRONZE
2. MECHANICAL ADVANTAGE: 4.25 l THRUST - 900 kN
3. RATIO: 5:1 m_ [ )| N MAX 45 -
4. DIMENSIONS: IN [MM] B MAX | 200.4 _
5. OUTPUT FLANGE: ISO F35 6 'C MAX 190 122
COSTRUZIONI MECCANICHE LEGNANESI THIS DRWANG/DESIEN S | Do | PRRENG
THE PROPERTY OF NOT ‘
MASTERGEAR. AND MUST | scaLE | A90 ISO
/ \ R /oG b= T = o T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN |APPROVEDBY | geyio
5466 EAST ROCKTON RD. SOUTH BELOIT, IL 61080 CONSENT. © I_D 16—04-03




A110 BEVEL GEAR 150

6" GAS =)
—61(155)—~ 9
| ~
i o =2
W YA S S e Y ¢ i
=) / \ AVZZ
~ ———T——™ ?
- ? | | \ [
— — o
o NI ﬂ w
¥~ whk - o~
N ]y D UiI:D u:l[n wy —
25 D\ ! ! /E E
© = I | |
| |
! PR
o, 8C
lg]
- 11.81 [300.0]
(@]
23.70 [602.0]
I<1712.795 ( 325)—|>
M36 TAP~ 8 HOLES
ON A 16.00[406mm] B.C.D. @)
@) ©
5.9(150)
&\ o EO.W(Q.S)q
M12x1.75
_ _ _ e
o (& @) olF
1.063(27) L
o (@ Y g
A110S | AT10R | A110RS
NOTES: O O STEM NUT STEEL BRONZE BRONZE
1. TORQUE: 16000 Nn - THRUST - 1100 KN| 1600 KN
2. MECHANICAL ADVANTAGE: 4.25 _'>| |<'_A — = - —
3. RATIO: 5:1 T ’A’ MAX
4. DIMENSIONS: IN [MM] B’ MAX 221.4 - -
5. OUTPUT FLANGE: ISO F40 % 'C’ MAX 210 140 140
COSTRUZIONI MECCANICHE LEGNANESI | TS DRWANG/DESIGNis | Do | PRGN
THE PROPERTY OF NOT ’
MASTERGEAR. ANDMUST |  SCALE |A110 1SO
/ \ PG =l = /o NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR S?gﬁISFEIH/RITTEN APPROVEDBY|  gev.o
5466 EAST ROCKTON RD.  SOUTH BELOIT, IL 61080 - © LD 16-04-03




Alll

BEVEL GEAR IS0

6" GAS =)
~—6.1(155)— S
| | ~
(] (] oo c?
W Y w v s Nt W1 1
< / \ Av:z
~ ———T——™ ?
- ? | | \ [
—_ — O
o NI ﬂ To)
¥~ whk - o~
N ]y oD UiI:D u:l[n wy —
25 D\ ! ! /E E
© = I | |
| |
! L
o, 8C
lg]
- 11.81 [300.0]
(@]
23.70 [602.0]
I<1712.795 ( 325)—|>
M36 TAP~ 8 HOLES
ON A 16.00[406mm] B.C.D. @)
@) ©
5.9(150)
&\ o EO.W(Q.S)q
M12x1.75
_ _ _ e
o (& @) olF
1.063(27) -
o (B Y g
A11S | AI11IR | AT11RS
NOTES: O QO STEM NUT | STEEL | BRONZE | BRONZE
1. TORQUE: 12000 Nn - THRUST - 1100 KN| 1600 KN
2. MECHANICAL ADVANTAGE: 4.93 _'>| |<'_A — = - —
3. RATIO: 5.8:1 T ’A’ MAX
4. DIMENSIONS: IN [MM] B’ MAX 221.4 - -
5. OUTPUT FLANGE: ISO F40 % 'C’ MAX 210 140 140
COSTRUZIONI MECCANICHE LEGNANESI | TS DRWANG/DESIGNIs | Do | PRREING
THE PROPERTY OF NOT ’
MASTERGEAR. AND MUST | SCALE  |A111 ISO
/ \ PG =l = /o NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR S?gﬁISFEIH/RITTEN APPROVED BY | gev.o
5466 EAST ROCKTON RD.  SOUTH BELOIT, IL 61080 - © LD 16-04-03




A300 BEVEL GEAR IS0

+ GAS THREAD IS STANDARD — NPT THREADS . 11 " GAS *
WILL NEED TO BE QUOTE THRU MASTERGEAR
17.68 [449.0] 6.693 [170]
/ n n _--3_
(=) ! g e —— N
S ' ' —
2 o e —— |
o — I 1 R
B o - - ™
i —— K
) | | 3
A () | | e o
ii | | il
P , , il
L6 ¢ MAX— =
$18.50 [470.0] X,
(@]
$33.07 [840.0] M
o
M36 TAP ~ 20 HOLES
ON A 603 B.C.D. (lSO F60)
o 6.3(160)—
—}~0.2(5)
1
)416X2
=)
B J - 1.06327) @
Lo
N
NOTES: A300S A300R
1. TORQUE: 30000 Nm —BI'A'|<— STEM NUT STEEL BRONZE
2. MECHANICAL ADVANTAGE: 5.1 I THRUST - 3000 KN
3. RATIO: 6:1 o _( |\ "N’ MAX 56 -
4. DIMENSIONS: IN [MM] ‘B MAX | 262.4 -
5. OUTPUT FLANGE: ISO F60 8 'C’ MAX 250 200
DRAWING
THIS DRWAING/DESIGN IS DO
COSTRUZIONI MECCANICHE LEGNANESI THE PROPERTY OF NOT No.
MASTERGEAR. AND MUST SCALE A300 ISO
\ ) o T = T T NOT BE USED WITHOUT
DIVISION OF REGAL—BELOIT CORPORATION THEIR SPECIFIC WRITTEN |APPROVEDBY |  Rev.0
5466 EAST ROCKTON RD.  SOUTH BELOIT, IL 61080 CONSENT.  © | D | 16-04-03




